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Derivatives of Trigonometric Functions 

1. If  𝑓(𝑥) = sin 𝑥, then 𝑓′ (
𝜋

3
) = 

(A)   −
1

2
 

(B)      
1

2
 

(C)     
√2

2
 

(D)    
√3

2
 

 

2. The lim
ℎ→0

tan(𝜋+ℎ)−tan(𝜋)

ℎ
 is: 

(A)   −1 

(B)      0 

(C)      1 

(D)   does not exist 

 

3. If 𝑦 = sec 𝑥, then 
𝑑2𝑦

𝑑𝑥2
= 

(A)  sec 𝑥 tan 𝑥 

(B)  sec3 𝑥 tan 𝑥 

(C)  sec 𝑥 tan 𝑥 + sec2 𝑥 

(D)  sec 𝑥 tan2 𝑥 + sec3 𝑥 

 
 

4. Given 𝑓(𝑥) = cos 𝑥 and 𝑔(𝑥) = 𝑥2 + 3𝑥, if ℎ(𝑥) = 𝑓(𝑥)𝑔(𝑥), find ℎ′(𝑥).  

 

 

 

 

 

 
 

5. Given the velocity of a particle is 𝑣(𝑡) = cos 𝑡 on the interval [0,2𝜋), when is the particle 

speeding up? 

 


